



## ALTERNATING SERIES OF APÉRY-TYPE FOR THE RIEMANN ZETA FUNCTION

WENCHANG CHU

ABSTRACT. By making use of a transformation formula for the non-terminating well-poised  ${}_5F_4$ -series, we investigate a class of alternating series of Apéry-type and establish several identities for the Riemann zeta function, including three identities conjectured by Sun (2015).

### 1. INTRODUCTION AND MOTIVATION

The Riemann zeta function is defined by the series

$$\zeta(x) = \sum_{n=1}^{\infty} \frac{1}{n^x} \quad \text{for } \Re(x) > 1.$$

Euler discovered the well-known formula that this function at the even positive integers can be expressed in terms of  $\pi$ :

$$\zeta(2n) = (-1)^{n-1} \frac{(2\pi)^{2n}}{(2n)!} B_{2n},$$

where the even index Bernoulli numbers  $B_{2n}$  are defined by the generating function:

$$y \cot y = \sum_{n=0}^{\infty} (-1)^n \frac{(2y)^{2n}}{(2n)!} B_{2n}.$$

In his irrationality proof for  $\zeta(2)$  and  $\zeta(3)$ , Apéry [3] (see also [19]) found the following surprising infinite series identities:

$$\zeta(2) = \sum_{n=1}^{\infty} \frac{3}{n^2 \binom{2n}{n}} \quad \text{and} \quad \zeta(3) = \frac{5}{2} \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n^3 \binom{2n}{n}}.$$

More formulae of Apéry-type involving central binomial coefficients can be found in numerous articles, for example, [1, 2, 5, 8, 11, 12, 14, 16, 18, 20, 22], as well as the monographs by Berndt [6, §9], Borwein and Borwein [7, §11] and Comtet [15, p. 89].

2000 *Mathematics Subject Classification*. Primary 11M06, Secondary 11B65.

*Key words and phrases*. The gamma function; Riemann zeta function; Hypergeometric series; Harmonic number; Binomial coefficient; Bell polynomial.

Email address: chu.wenchang@unisalento.it.

This work is licensed under a Creative Commons “Attribution-NoDerivatives 4.0 International” license.



Define the generalized harmonic numbers of higher order by

$$H_n^{(m)} := \sum_{k=1}^n \frac{1}{k^m} \quad \text{with} \quad H_n := H_n^{(1)}.$$

The purpose of this paper is to investigate alternating series of Apéry-type involving both harmonic numbers of higher order and central binomial coefficients. According to Chu [10, 11] and Chu–Zhang [13], numerous  $\pi$ -related series identities (such as Riemann zeta series, Apéry-type series, and Ramanujan-like series) can be derived by examining classical hypergeometric functions. By employing a transformation formula for the nonterminating well-poised  ${}_5F_4$ -series appearing in [13, Theorem 10], we shall establish several further infinite series identities. For instance, we find two Apéry-like series for  $\zeta(4)$  (see Examples 3.2 and 3.3)

$$(1.1) \quad \frac{\pi^4}{30} = \sum_{n=1}^{\infty} (-1)^{n-1} \frac{10nH_n - 3}{n^4 \binom{2n}{n}},$$

$$(1.2) \quad \frac{2\pi^4}{75} = \sum_{n=1}^{\infty} (-1)^{n-1} \frac{H_{2n} + 4H_n}{n^3 \binom{2n}{n}};$$

plus another series for  $\zeta^2(3)$  (see Example 3.11)

$$(1.3) \quad 2\zeta^2(3) = \sum_{n=1}^{\infty} (-1)^{n-1} \frac{1 + 5n^3 H_n^{(3)}}{n^6 \binom{2n}{n}}.$$

They are among the list of the conjectured series detected experimentally by Sun [21].

## 2. HYPERGEOMETRIC SERIES TRANSFORMATION

Let  $\mathbb{N}$  be the set of natural numbers. The shifted factorials are defined by

$$(x)_0 \equiv 1 \quad \text{and} \quad (x)_n = x(x+1) \cdots (x+n-1) \quad \text{for} \quad n \in \mathbb{N}.$$

In their derivation of Ramanujan's  $\pi$ -formulae, Chu and Zhang [13, Theorem 10] proved the following transformation.

**Lemma 2.1.** *For the five complex parameters  $\{a, b, c, d, e\}$  subject to the convergence condition  $\Re(1 + 2a - b - c - d - e) > 0$ , the following transformation formula holds*

$$\begin{aligned} & \sum_{k=0}^{\infty} (a+2k) \frac{(b)_k (c)_k (d)_k (e)_k}{(1+a-b)_k (1+a-c)_k (1-a-d)_k (1+a-e)_k} \\ &= \sum_{n=0}^{\infty} (-1)^n \frac{(1+a-b-c)_n (1+a-b-d)_n (1+a-b-e)_n}{(1+2a-b-c-d-e)_{2+2n}} \\ & \times \frac{(1+a-c-d)_n (1+a-c-e)_n (1+a-d-e)_n}{(1+a-b)_n (1+a-c)_n (1+a-d)_n (1+a-e)_n} \\ & \times \left\{ \begin{aligned} & (1+2a-b-c-d+2n)(2+2a-b-c-d-e+2n)(a-e+n) \\ & + (1+a-b-c+n)(1+a-b-d+n)(1+a-c-d+n) \end{aligned} \right\}. \end{aligned}$$

Letting  $e = a$  and then applying the summation theorem for the well-poised  ${}_5F_4$ -series due to Dougall (cf. Bailey [4, §4.4])

$$\begin{aligned} & \sum_{k=0}^{\infty} (a+2k) \frac{(b)_k (c)_k (d)_k (e)_k}{(1+a-b)_k (1+a-c)_k (1-a-d)_k (1+a-e)_k} \\ &= \frac{\Gamma(1+a-b)\Gamma(1+a-c)\Gamma(1+a-d)\Gamma(1+a-b-c-d)}{\Gamma(a)\Gamma(1+a-b-c)\Gamma(1+a-b-d)\Gamma(1+a-c-d)} \end{aligned}$$

we can express the resulting equation, under the parameter replacements

$$a \rightarrow 1 - ax, \quad b \rightarrow 1 - bx, \quad c \rightarrow 1 - cx, \quad d \rightarrow 1 - dx$$

as the following theorem involving the variable  $x$  and four parameters  $\{a, b, c, d\}$ .

**Theorem 2.2.** *For the five complex parameters  $\{a, b, c, d, x\}$  subject to the condition that none of the linear combinations*

$$\{ax + bx, ax + cx, ax + dx, ax + bx + cx + dx\}$$

*is a negative integer (so that the series is well-defined), the following summation formula holds*

$$\begin{aligned} & \frac{\Gamma(1+ax+bx)\Gamma(1+ax+cx)\Gamma(1+ax+dx)\Gamma(1+ax+bx+cx+dx)}{\Gamma(1+ax)\Gamma(1+ax+bx+cx)\Gamma(1+ax+bx+dx)\Gamma(1+ax+cx+dx)} \\ &= 1 + \sum_{n=1}^{\infty} (-1)^n \frac{bcdx^3}{n^6 \binom{2n}{n}} \\ & \times \left\{ \begin{aligned} & (n+ax+bx+cx)(n+ax+bx+dx)(n+ax+cx+dx) \\ & + n(2n+2ax+bx+cx+dx)(2n+ax+bx+cx+dx) \end{aligned} \right\} \\ & \times \frac{\binom{n-1+bx}{n-1} \binom{n-1+cx}{n-1} \binom{n-1+dx}{n-1} \binom{n-1+ax+bx+cx}{n-1} \binom{n-1+ax+bx+dx}{n-1} \binom{n-1+ax+cx+dx}{n-1}}{\binom{n+ax+bx}{n} \binom{n+ax+cx}{n} \binom{n+ax+dx}{n} \binom{2n+ax+bx+cx+dx}{2n}}. \end{aligned}$$

By comparing the coefficients of  $x^3$  across the last identity, we recover immediately the following important identity.

**Example 2.3** (Hjortnaes (1954: see also [8, 17, 20])).

$$\frac{2}{5}\zeta(3) = \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n^3 \binom{2n}{n}}.$$

Throughout the paper, we shall utilize the modified harmonic numbers of higher order, slightly different from the usual one, defined by

$$\mathbf{H}_m(n) = \sum_{k=1}^n \left(\frac{n}{k}\right)^m = n^m H_n^{(m)} \quad \text{for } m, n \in \mathbb{N}.$$

The reason to introduce the above notation  $\mathbf{H}_m(n)$ , instead of  $H_n^{(m)}$ , is not only for brevity to reduce lengthy and ugly expressions containing

$$\mathbf{H}_m^\lambda(n) = n^{m\lambda} (H_n^{(m)})^\lambda,$$

but also justified by another advantage that all the infinite series expressions for Riemann zeta function in this paper have the form

$$\zeta(m) = \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n^m \binom{2n}{n}} \times \mathcal{P} \quad \text{for } m \geq 3,$$

where  $\mathcal{P}$  is a multivariate polynomial of  $\{\mathbf{H}_k(n)\}_{k=1}^{m-3}$  with each  $\mathbf{H}_k(n)$  behaving like a constant, as shown in Examples 3.5–3.7 for  $\zeta(5)$  and Example 3.16 for  $\zeta(7)$ .

In order to derive further infinite series identities by extracting the coefficients of higher powers of the variable  $x$  in Theorem 2.2, it is necessary to record some basic facts about the Bell polynomials and generalized harmonic numbers as well as power series expansions of the  $\Gamma$ -function.

For the indeterminates  $y = \{y_k\}_{k \in \mathbb{N}}$ , we define the Bell polynomials  $\mathcal{B}_m(y)$  (cf. Comtet [15, §3.3]) by the generating function

$$(2.1) \quad \sum_{m \geq 0} \mathcal{B}_m(y) x^m = \exp \left\{ \sum_{k \geq 1} \frac{x^k}{k} y_k \right\}.$$

There is the following explicit expression

$$(2.2) \quad \mathcal{B}_m(y) = \mathcal{B}_m(y_1, y_2, \dots, y_m) = \sum_{\Omega(m)} \prod_{k=1}^m \frac{y_k^{\ell_k}}{\ell_k! k^{\ell_k}}$$

where the multiple sum runs over  $\Omega(m)$ , the set of  $m$ -partitions represented by  $m$ -tuples of  $(\ell_1, \ell_2, \dots, \ell_m) \in \mathbb{N}_0^m$  subject to the condition  $\sum_{k=1}^m k \ell_k = m$ .

Let  $[x^m]f(x)$  stand for the coefficient of  $x^m$  in a formal power series  $f(x)$ . By means of the generating function method, it is not hard to show that

(cf. Chen–Chu [9]) there hold the relations:

$$(2.3) \quad [x^m] \binom{n - \lambda x}{n} = \mathcal{B}_m(u), \quad u_k := -\left(\frac{\lambda}{n}\right)^k \mathbf{H}_k(n);$$

$$(2.4) \quad [x^m] \binom{n - \lambda x}{n}^{-1} = \mathcal{B}_m(v), \quad v_k := \left(\frac{\lambda}{n}\right)^k \mathbf{H}_k(n);$$

$$(2.5) \quad [x^m] \binom{n - 1 - \lambda x}{n - 1} = \mathcal{B}_m(w), \quad w_k := \left(\frac{\lambda}{n}\right)^k \{1 - \mathbf{H}_k(n)\}.$$

Then the Bell polynomials corresponding to (2.3), (2.4), and (2.5) can be expressed as

$$(2.6) \quad \mathcal{B}_m(u) = \frac{\lambda^m}{n^m} \sum_{\Omega(m)} \prod_{k=1}^m \frac{\{-\mathbf{H}_k(n)\}^{\ell_k}}{\ell_k! k^{\ell_k}},$$

$$(2.7) \quad \mathcal{B}_m(v) = \frac{\lambda^m}{n^m} \sum_{\Omega(m)} \prod_{k=1}^m \frac{\mathbf{H}_k^{\ell_k}(n)}{\ell_k! k^{\ell_k}},$$

$$(2.8) \quad \mathcal{B}_m(w) = \frac{\lambda^m}{n^m} \sum_{\Omega(m)} \prod_{k=1}^m \frac{\{1 - \mathbf{H}_k(n)\}^{\ell_k}}{\ell_k! k^{\ell_k}}.$$

They will be employed to compute coefficients of  $x^m$  for  $m \in \mathbb{N}$  from the right hand side of the equation displayed in Theorem 2.2. Instead, for the left hand side of the same equation, we shall utilize the power series expansions of the  $\Gamma$ -function [10]

$$(2.9) \quad \Gamma(1 - x) = \exp \left\{ \sum_{k \geq 1} \frac{\sigma_k}{k} x^k \right\},$$

$$(2.10) \quad \Gamma\left(\frac{1}{2} - x\right) = \sqrt{\pi} \exp \left\{ \sum_{k \geq 1} \frac{\tau_k}{k} x^k \right\};$$

where  $\sigma_k$  and  $\tau_k$  are defined respectively by

$$\begin{aligned} \sigma_1 = \gamma & \quad \text{and} \quad \sigma_m = \zeta(m) & \quad \text{for } m \geq 2; \\ \tau_1 = \gamma + 2 \ln 2 & \quad \text{and} \quad \tau_m = (2^m - 1)\zeta(m) & \quad \text{for } m \geq 2; \end{aligned}$$

with  $\gamma$  being the Euler–Mascheroni constant given by  $\gamma = \lim_{n \rightarrow \infty} (H_n - \ln n)$ .

### 3. ALTERNATING SERIES OF APÉRY-TYPE

In this section, we shall establish several alternating series identities of Apéry-type for the Riemann zeta function by extracting coefficients of  $x^m$  for  $m \in \mathbb{N}$  across the identity given in Theorem 2.2. Because the computations are entirely routine, we highlight only the parameter settings in the example headers, where for simplicity, we shall make use of the following three power sums

$$\rho_1 = b + c + d, \quad \rho_2 = b^2 + c^2 + d^2, \quad \text{and} \quad \rho_3 = b^3 + c^3 + d^3.$$

### 3.1. Infinite Series for $\zeta(4)$ from $[x^4]$ in Theorem 2.2.

**Example 3.1** ( $\rho_1 = 0$ ).

$$\frac{2\pi^4}{15} = \sum_{n=1}^{\infty} (-1)^{n-1} \frac{5\mathbf{H}_1^1(2n) + 12}{n^4 \binom{2n}{n}}.$$

**Example 3.2** ( $a = -\rho_1$ ).

$$\frac{\pi^4}{30} = \sum_{n=1}^{\infty} (-1)^{n-1} \frac{10\mathbf{H}_1^1(n) - 3}{n^4 \binom{2n}{n}}.$$

**Example 3.3** ( $a = -\frac{3}{2}\rho_1$ ).

$$\frac{4\pi^4}{75} = \sum_{n=1}^{\infty} (-1)^{n-1} \frac{\mathbf{H}_1^1(2n) + 8\mathbf{H}_1^1(n)}{n^4 \binom{2n}{n}}.$$

The above two identities confirm the conjectured values detected experimentally by Sun [21, Equations 3.13 and 3.14]. The next one follows from the linear combination “ $2 \times \mathbf{E}(3.1) - 5 \times \mathbf{E}(3.3)$ ”, where  $\mathbf{E}(3.1)$  and  $\mathbf{E}(3.3)$  stand for the equations in Example 3.1 and Example 3.3, respectively.

**Example 3.4** ( $a = -\frac{\rho_1}{2}$ ).

$$0 = \sum_{n=1}^{\infty} (-1)^n \frac{5\mathbf{H}_1^1(2n) - 40\mathbf{H}_1^1(n) + 24}{n^4 \binom{2n}{n}}.$$

**3.2. Infinite series for  $\zeta(5)$  from  $[x^5]$  in Theorem 2.2.** Koecher [17] (see also [2, 5, 8, 19]) found the following infinite series identity

$$\zeta(5) = 2 \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{n^5 \binom{2n}{n}} + \frac{5}{2} \sum_{n=1}^{\infty} \frac{(-1)^n}{n^3 \binom{2n}{n}} \sum_{k=1}^{n-1} \frac{1}{k^2}$$

which can be restated equivalently in the example below.

**Example 3.5** ( $a = \rho_1 = 0$ ).

$$2\zeta(5) = \sum_{n=1}^{\infty} (-1)^n \frac{5\mathbf{H}_2^1(n) - 9}{n^5 \binom{2n}{n}}.$$

**Example 3.6** ( $a = -\rho_1$  and  $\rho_2 = \rho_1^2$ ).

$$4\zeta(5) = \sum_{n=1}^{\infty} (-1)^n \frac{6\mathbf{H}_1^1(n) - 10\mathbf{H}_1^2(n) - 5}{n^5 \binom{2n}{n}}.$$

**Example 3.7** ( $\rho_1 = \rho_2 = 0$ ).

$$96\zeta(5) = \sum_{n=1}^{\infty} (-1)^{n-1} \frac{24\mathbf{H}_1^1(2n) + 5\mathbf{H}_1^2(2n) + 5\mathbf{H}_2^1(2n) + 64}{n^5 \binom{2n}{n}}.$$

**Example 3.8** ( $\rho_1 = -\frac{2a}{3}$  and  $\rho_2 = -\frac{16a^2}{3}$ ).

$$0 = \sum_{n=1}^{\infty} \frac{(-1)^n}{n^5 \binom{2n}{n}} \left\{ \begin{array}{l} 320\mathbf{H}_1^2(n) + 5\mathbf{H}_1^2(2n) + 5\mathbf{H}_2^1(2n) - 1664 \\ + 1120\mathbf{H}_2^1(n) + 80\mathbf{H}_1^1(n)\mathbf{H}_1^1(2n) \end{array} \right\}.$$

As done for Example 3.4, the next two “redundant series” can also be derived by combining the two equations displayed in Examples 3.5 and 3.6.

**Example 3.9** ( $a = -\rho_1$  and  $\rho_2 = -3\rho_1^2$ ).

$$0 = \sum_{n=1}^{\infty} (-1)^n \frac{6\mathbf{H}_1^1(n) - 10\mathbf{H}_1^2(n) - 10\mathbf{H}_2^1(n) + 13}{n^5 \binom{2n}{n}}.$$

**Example 3.10** ( $a = -\rho_1$  and  $\rho_2 = -\frac{2\rho_1^2}{9}$ ).

$$26\zeta(5) = \sum_{n=1}^{\infty} (-1)^n \frac{54\mathbf{H}_1^1(n) - 90\mathbf{H}_1^2(n) - 25\mathbf{H}_2^1(n)}{n^5 \binom{2n}{n}}.$$

**3.3. Infinite series for  $\zeta(6)$  from  $[x^6]$  in Theorem 2.2.** Firstly, we confirm the following identity conjectured experimentally by Sun [21, Equation 4.5].

**Example 3.11** ( $a = \rho_1 = 0$ ).

$$2\zeta^2(3) = \sum_{n=1}^{\infty} (-1)^{n-1} \frac{5\mathbf{H}_3^1(n) + 1}{n^6 \binom{2n}{n}}.$$

**Example 3.12** ( $\rho_1 = -a$ ,  $\rho_2 = a^2$  and  $\rho_3 = -a^3$ ).

$$\frac{\pi^6}{63} = \sum_{n=1}^{\infty} (-1)^{n-1} \frac{30\mathbf{H}_1^1(n) - 18\mathbf{H}_1^2(n) + 20\mathbf{H}_1^3(n) + 10\mathbf{H}_3^1(n) - 9}{n^6 \binom{2n}{n}}.$$

**Example 3.13** ( $\rho_1 = -a$ ,  $\rho_2 = a^2$  and  $\rho_3 = -3a^3$ ).

$$\frac{\pi^6}{63} - 4\zeta^2(3) = \sum_{n=1}^{\infty} (-1)^{n-1} \frac{30\mathbf{H}_1^1(n) - 18\mathbf{H}_1^2(n) + 20\mathbf{H}_1^3(n) - 11}{n^6 \binom{2n}{n}}.$$

**Example 3.14** ( $\rho_1 = 0$  and then  $[a]$ ).

$$\frac{4\pi^6}{189} = \sum_{n=1}^{\infty} (-1)^{n-1} \frac{40 + 9\mathbf{H}_1^1(2n) - 12\mathbf{H}_2^1(n) - 5\mathbf{H}_2^1(n)\mathbf{H}_1^1(2n)}{n^6 \binom{2n}{n}}.$$

**Example 3.15** ( $\rho_1 = 0$  and then  $[a^3]$ ).

$$\frac{64\pi^6}{63} = \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n^6 \binom{2n}{n}} \left\{ \begin{array}{l} 480 + 192\mathbf{H}_1^1(2n) + 36\mathbf{H}_1^2(2n) + 36\mathbf{H}_2^1(2n) \\ + 5\mathbf{H}_1^3(2n) + 15\mathbf{H}_1^1(2n)\mathbf{H}_2^1(2n) + 10\mathbf{H}_3^1(2n) \end{array} \right\}.$$

### 3.4. Infinite series for $\zeta(7)$ from $[x^7]$ in Theorem 2.2.

Koecher [17] (cf. [8, Equation 9-3]) discovered also the following interesting series for  $\zeta(7)$ .

**Example 3.16** ( $a = \rho_1 = 0$ ).

$$4\zeta(7) = \sum_{n=1}^{\infty} \frac{(-1)^n}{n^7 \binom{2n}{n}} \left\{ 18\mathbf{H}_2^1(n) - 5\mathbf{H}_2^2(n) + 5\mathbf{H}_4^1(n) - 26 \right\}.$$

**Example 3.17** ( $\rho_1 = \rho_2 = 0$  and then  $[a]$ ).

$$\frac{4\pi^4}{3}\zeta(3) = \sum_{n=1}^{\infty} \frac{(-1)^n}{n^7 \binom{2n}{n}} \left\{ 132 - 300\mathbf{H}_4(n) - \{1 + 5\mathbf{H}_3(n)\} \{12 + 5\mathbf{H}_1(2n)\} \right\}.$$

### 3.5. Infinite series for $\zeta(8)$ from $[x^8]$ in Theorem 2.2.

**Example 3.18** ( $a = \rho_1 = 0$ ).

$$4\zeta(3)\zeta(5) = \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n^8 \binom{2n}{n}} \left\{ 2 - \mathbf{H}_2^1(n) + 9\mathbf{H}_3^1(n) + 5\mathbf{H}_5^1(n) - 5\mathbf{H}_2^1(n)\mathbf{H}_3^1(n) \right\}.$$

**Example 3.19** ( $\rho_1 = \rho_2 = 0$  and then  $[a]$ ).

$$\begin{aligned} \frac{4\pi^8}{675} &= \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n^8 \binom{2n}{n}} \\ &\times \left\{ \begin{aligned} &5\mathbf{H}_2^2(n)\mathbf{H}_1^1(2n) - 18\mathbf{H}_2^1(n)\mathbf{H}_1^1(2n) - 5\mathbf{H}_4^1(n)\mathbf{H}_1^1(2n) \\ &+ 168 - 80\mathbf{H}_2^1(n) + 12\mathbf{H}_2^2(n) - 12\mathbf{H}_4^1(n) + 26\mathbf{H}_1^1(2n) \end{aligned} \right\}. \end{aligned}$$

### 3.6. Infinite series for $\zeta(9)$ from $[x^9]$ in Theorem 2.2.

**Example 3.20** ( $a = \rho_1 = \rho_2 = 0$ ).

$$\frac{4\zeta(9)}{3} + \frac{8\zeta^3(3)}{3} = \sum_{n=1}^{\infty} \frac{(-1)^n}{n^9 \binom{2n}{n}} \left\{ 5\mathbf{H}_6^1(n) - 5\mathbf{H}_3^2(n) - 2\mathbf{H}_3^1(n) - 10 \right\}.$$

**Example 3.21** ( $a = c = 0$  and  $b = -d = 1$ ).

$$12\zeta(9) = \sum_{n=1}^{\infty} \frac{(-1)^n}{n^9 \binom{2n}{n}} \left\{ \begin{aligned} &27\mathbf{H}_4^1(n) + 10\mathbf{H}_6^1(n) - 15\mathbf{H}_2^1(n)\mathbf{H}_4^1(n) \\ &- 102 + 78\mathbf{H}_2^1(n) - 27\mathbf{H}_2^2(n) + 5\mathbf{H}_3^2(n) \end{aligned} \right\}.$$

By carrying out the same procedure, it is possible to derive alternating series expressions for  $\zeta(m)$  with  $m > 9$ . However, we shall not produce them further because the resulting series are too complicated.

#### ACKNOWLEDGEMENT

The author expresses his sincere gratitude to an anonymous referee for the careful reading, critical comments and valuable suggestions that improved the manuscript.



## REFERENCES

1. J. Ablinger, *Discovering and proving infinite binomial sums identities*, *Exper. Math.* 26:1 (2017), 62–71.
2. G. Almkvist and A. Granville, *Borwein and Bradley's Apéry-like formulae for  $\zeta(4n+3)$* , *Exper. Math.* 8:2 (1999), 197–203.
3. R. Apéry, *Irrationalité de  $\zeta(2)$  et  $\zeta(3)$* , *Journées Arithmétiques de Luminy: Astérisque* 61 (1979), 11–13.
4. W. N. Bailey, *Generalized Hypergeometric Series*, Cambridge University Press, Cambridge, 1935.
5. D. H. Bailey, J. M. Borwein, and D. M. Bradley, *Experimental determination of Apéry-like identities for  $\zeta(2n+2)$* , *Exper. Math.* 15:3 (2006), 281–289.
6. B. C. Berndt, *Ramanujan's Notebooks (Part I)*, Springer-Verlag, New York, 1985.
7. D. M. Borwein and J. M. Borwein, *Pi and the AGM: A Study in Analytic Number Theory and Computational Complexity*, Wiley, New York, 1987.
8. J. M. Borwein and D. M. Bradley, *Empirically determined Apéry-like formulae for  $\zeta(4n+3)$* , *Exper. Math.* 6:3 (1997), 181–194.
9. X. Chen and W. Chu, *Dixon's  ${}_3F_2(1)$ -series and identities involving harmonic numbers and Riemann zeta function*, *Discrete Math.* 310:1 (2010), 83–91.
10. W. Chu, *Hypergeometric series and the Riemann zeta function*, *Acta Arith.* 82:2 (1997), 103–118.
11. ———, *Hypergeometric approach to Apéry-like series*, *Integral Transforms Spec. Funct.* 28:7 (2017), 505–518.
12. W. Chu and F. L. Esposito, *Further Apéry-like series via multisection method*, *J. Class. Anal.* 12:2 (2018), 55–81.
13. W. Chu and W. Zhang, *Accelerating Dougall's  ${}_5F_4$ -sum and infinite series involving  $\pi$* , *Math. Comp.* 83:285 (2014), 475–512.
14. W. Chu and D. Y. Zheng, *Infinite series with harmonic numbers and central binomial coefficients*, *Int. J. Number Theory* 5:3 (2009), 429–448.
15. L. Comtet, *Advanced Combinatorics*, Dordrecht-Holland, The Netherlands, 1974.
16. C. Elsner, *On sums with binomial coefficients*, *Fibonacci Quart.* 43:1 (2005), 31–45.
17. M. Koecher, *Letter to the editor*, *Math. Intelligencer* 2:2 (1979/1980), 62–64.
18. D. H. Lehmer, *Interesting series involving the central binomial coefficient*, *Amer. Math. Monthly* 92 (1985), 449–457.
19. A. J. van der Poorten, *A proof that Euler missed . . .*, *Math. Intelligencer* 1 (1979), 195–203.
20. T. Rivoal, *Simultaneous generation of Koecher and Almkvist-Granville's Apéry-Like formulae*, *Exper. Math.* 13:4 (2004), 503–508.
21. Z. W. Sun, *New series for some special values of L-functions*, *Nanjing Univ. J. Math.* 32:2 (2015), 189–218.
22. I. J. Zucker, *On the series  $\sum_{k=1}^{\infty} \binom{2k}{k}^{-1} k^{-n}$* , *J. Number Theory* 20:1 (1985), 92–102.

SCHOOL OF MATHEMATICS AND STATISTICS  
 ZHOUKOU NORMAL UNIVERSITY  
 ZHOUKOU 466001, P. R. CHINA

CORRESPONDING ADDRESS  
 DEPARTMENT OF MATHEMATICS AND PHYSICS  
 UNIVERSITY OF SALENTO (P. O. BOX 193)  
 73100 LECCE, ITALY

*E-mail address:* [chu.wenchang@unisalento.it](mailto:chu.wenchang@unisalento.it)